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Properties Gos'(-Y) = A - (4
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Properties
L
= tan"![——"\ where x>0 . y=0 & W GE B)= denf tomb

L _xy 1 — tand Fuad
v
— 1 2% 4 . :
=7+ tan where x>0 . y>0 &
. l—=xy
h_

where x>0 . y>0




Problems
9

If tan2 + tan4 = cor(2) then find A.
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Problems

9 . X D%\
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Problems

2 Considering only the principal wvalues of inverse
functions, the set A = {x >0:tan™" 2x) + tan™' (3x) = g}

(2019 Main, 12 Jan I)

(a) 1s an empty set

. +on 2 % 3 5
P Ts a singleton | — &x*
(c) contains more than two elements oo = —-G'v.
(d) contains two elements
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3 1
The value of sin™ (
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Problems BT
2 #*
If cas‘l:a‘—cc}s_lgz_g, where —1<x<1, —-2<vy<2, /Co.{\("" -« X:L.‘_\|H.>:\°<
.
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_~BUMMATION OF SERIES :
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Problems

19 n o
The value of cot [ > cut‘l[l + ) Qp]] is

n=1 p=1 _
23 21 (2019 Main, 10 Jan 1)
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End of Lecture



